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QUESTION 1

When must the TIBCO BusinessEvents project EAR file be rebuilt? (Choose two.) 

A. After adding a Destination to a Channel 

B. After modifying an existing rule 

C. After adding a new inference agent configuration 

D. After modifying the object management type 

Correct Answer: AB 

 

QUESTION 2

Which two actions must be taken to remotely debug a TIBCO BusinessEvents inference agent? (Choose two.) 

A. Enable Java Debug Interface connector 

B. Enable Java Management Extension connector 

C. Start the be-engine.exe with -debug option 

D. Enable TIBCO Hawk libraries 

E. Add TIBCO.debug.remote=true to the be-engine.tra file 

Correct Answer: AC 

 

QUESTION 3

What are three parts of a TIBCO BusinessEvents rule? (Choose three.) 

A. Java imports 

B. Declarations 

C. Headers 

D. Conditions 

E. Actions 

F. Scope 

Correct Answer: BDE 

 

QUESTION 4
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Which two statements are true about a Fault Tolerant agent in standby mode? (Choose two.) 

A. It maintains a passive RETE network. 

B. It listens to events from channels. 

C. It does not execute startup rule functions. 

D. It updates working memory. 

E. It reads and writes to cache. 

Correct Answer: AC 

 

QUESTION 5

What are the four main clauses of the pattern string used in Pattern Description Language? (Choose four.) 

A. Select ...from... 

B. Starts with ...then... 

C. Order by... 

D. With... 

E. Define pattern... 

F. Using... 

G. Group by... 

Correct Answer: AD 
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